e <E71> 9] O¢tell E07te o= g5yt oFel U
T Tl = M A MEE o e } g AA e o] ‘?JE
T2

@ O+2.25 @o+1§
©O+2% ® O=+1.357
[

> HE . 3.637

O 12 Y32, Uyt 471 3H 2 2 51, Ure
7t 2o g2 2 WLk 12 =137, 2, = 228, %o
2 =AY E Ve | 1.357 > 1.375 > 2.25 > 2.28




st
o

N
o
rlu
2y
flo
Mg
)
N
fol

il

[
>
lo

@ 4.68 13 = 0.36
© 0.54 = 6 = 0.09
©84+14=0.6




1
oA Zlm o131 2134 lkm ol A Aol £ 10

2 ?F S (7h Aol AR L}‘j = Q%GHEP. ARTF L= el A

71
L

0 %km 1 (k)
® 0.21km @0.41km ® 0.9km
@ 0.24km ® 2.31km
% =02, % = 0.5 0|22 T 2 Ato]9] A= 05-0.2 =
0.3(km)

10 52 5} 0.3 = 10 = 0.03(km) °] 2 & Aty} R FHojlA
0.2 4 0.03 x 7 = 0.41(km) BoiZ 3Lof 5t




o] Aol7} 12.8cm %1 A ALZE 9] 7h2 9] Zo]7t 3.8cm YY T

=
/\1]—2-—9] dol=2 ecm JY7t?
B cm

>
> HE . 26cm

(A 9] Eel)= (7I=2) +H(HIR)) x 2
A=) = (AARAZY E2) < 2- (71R)




7127}t
E4mEC|AL 7I2E 9 meEHA A
Tg oA HES L FU 7t2s g

>
>

15.72m, Al 27} 28 m 3l ZA}

C} -
H -

HEND 2.62m

-2 ZArZFE 2] Ho] & 15.72 x 28 = 440.16( m?)
O HZE 28 -4 =24(m)o|EE

o= gk

EfA] RS
7HE = 440.16 + 24 = 18.34(m) Y k.
wheba], 7h2 = 18.34 - 15.72 = 2.62(m) E&{oF Yt




Azl g Hof| 1.4L7F &1 FA
EZo] Yo mpAlH 1L

F20 AAFS Y 2 sy
FAO| g 14x 8 +0.88x4 =11.2 +3.52 = 14.72(L)
g Afgo] uhA 4 Q= %t 14.72 + 32 = 0.46( L)




A7F 18 & 47t dFUth 2 58 A2 SR Uk & &5
A7 Ael 7k 2k 12013 o uf A7} 0.28 YUt & 52
FotA2.

> E

> " 94

22 5| Fotd
25 ]+18---- @
244 ]=12---4028
C P

[[]x12+0.28:. .- @

O, @t A2 2 & 59| go|BR O OH A2 ZHU
[ Jx12+028=[ ]+138

[ Jx12-[ ]=18-028

(12-1)x[ =152

02x[ |=152

%F W2 72t 104 she
2x[ |=152
[ ]=76

S +=176
=76+18=94
— 94




WAl o] & W& dsto] g 34 A= 7HA] YEA L,
25+13=1.9230---

> E.

> =g 1.92

ade AR A A LR,
A4 AR 27302 5HT 2o g
WEaiA 1.927F HY o




G4t gHlol= 0.75kmE EEl= AlE & H 5y A3
2 o= grlo]7F 4Rt 2 2 WA E95t o ASH A=
10mFARL, F A4 2 gol= &7o17F 9m P A EWstg] o
T A 15 mARSHT 228 HH 8ol = 0.75kmE 2 Zof E5)
AEU7F? (d-&Eoto] A4 A 2pe]7kR] F6HA L))

dD)107.1 = @ 1072 % ® 1073 %

@ 1074 % ® 107.5 =

0.75km- _
glo)A F—————

gd ————>10m|=A 73} 2%
A2 I9m—>15m |=A g 2} 14m

1km = 1000m, 1 m = 0.001 km
SRlol7t A& & A 750 - 10 = 740( m)

SRlol7t T 2 A2]: 750 - 9 - 15 = 726(m)

A 2] Zpo] 1 740 — 726 = 14(m)

£, 2% S A7 14molBR 1% 5 EH A= Tm
?.ME}.

£10]7} 0.75(km) & & A7 0.75 + 0.007 = 107.14 - - (
%) = 107.1( %)




B2 IkAt 24827 Eo0] Qi AR BAI7E 6 kg GUTE W AR
o 5 ﬂ7+02kg o, 92} 1820 BALE oF E kgQlA] TS
(&, wredsto] 24 B4 Al 7hA] FohAR. o 1 0.666--- — oF

= kg

>
> He: Fo24kg

dAE W 2t 24820 FA 1 6-0.2 = 5.8(ke)
W2t 1 B0 A 58+24=0241---
= °F0.24 kg




11. oA FA7tA1 9] Agl= 6.25km AUt Aol doji 25 5

Al H-& E95te] FgollA 407 F¢t E2T o] Zotey 6

1 50+0] FAFUct Fgo|rt P44 T2 w272 AUTHE, 1

B Bt oF E kmE A2 AQIA| BhEste] A5 A A 7hA]
TSI L. (0.666--- — 2F 0.67)

> E: km

> &g 2F0.18km

8

(A2 A7

= (ZZAZH— (2L ZH) - (HEAIZD)

= 6A] 50+ —5A] 40+

= 1A 10&

1A 1022 HollA 39, 3NN FA7HA] GEAo| 2R
oA a7k d- A|7h

70(8) <2 = 35(8) 4yt

— 2F0.18 km




12.

ARz ol A @] Aol oF B em AR HHE S
OF )
QF

2 74| F5HAL.(0.666 - - - —

>
[> e 9F4.62cm

© 9HEZ

13x @) <2

@ YHE 5cm, =0|8 OS2
1222

22 Aol B2 O @49
13x@®+2=5x12=2
13x@+2=060
@D=60x2+13

) =120+13

@ =4.615---

watA @ = 4.62(cm) JUTh

LR E

L
=i
£
rlr
.

13cm, £°]E 922 & A9 4439 4




